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Question No. 1
The wire of 2 SWG is equivalent to diameter of-
A) 5.38 mm B) 5.89 mm
C) 6.4 mm D) 7.01 mm
2 SWG dR &I =9 & ST e Bl
A) 5.38 AT B) 5.89 fA=T
C) 6.4 &Y D) 7.01 f&=T
Answer Key : D Your Response : D (Correct)

Question No. 2

If the load impedance in three phases are not equal to the load then it is said to be-

A) Unbalanced load B) Balanced supply
C) Unbalanced supply D) Balanced load
Ife &t et & o1z 9fderem (load impedance), @18 & e} @ &, o 39 gl
ST B
A) IigfE o B) W e
C) yugfaa 3mafd D) ¥ a1
Answer Key : A Your Response : A (Correct)

Question No. 3

Before starting electroplating, what action is to be necessarily taken?
A) Polishing B) Cleaning

C) Soldering D) Buffing
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SAFITATEI Y& FoT W Tg, FleT AT FI FLAT HEATF 872

A) difafRrer B) Fenfaar
C) @resiar D) ofthar
Answer Key : B Your Response : B (Correct)

Question No. 4

The spindle of the moving system in a PMMC instrument is supported at both ends with the
help of-

A) Gun metal bearings B) Bush bearings
C) Steel bearings D) Jewelled bearings
PMMC #T9H 3 T omel & fiser gt R R fr seg & wafda & 8
A) 3T Fea e B) e fogRar
C) e faafar D) Sdes foaRer
Answer Key : D Your Response : D (Correct)

Question No. 5

Three-phase transformer contains-

A) Three primary and one secondary B) Three primary and two secondary windings

windings

C) Three primary and three secondary D) One primary and three secondary windings

windings

3-%aT PR 3 ga gl
A) e grafAs 3R T gfadge arsfser B) oiteT wiufAs 3R & gfadiaes agisa
C) i wafas 3R el gfadias asfEr D) ts gyrafAes 3R i gfadae agfser

Answer Key : C Your Response : C (Correct)

Question No. 6

The winding of interpoles is connected with the armature.
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A) In series B) Both in series and parallel
C) Half in series and half in parallel D) In parallel
Sevaier i aEfT, IERR & T & g ¥
A) Aofr & B) Aol 3R AR gt H
C) 3l Aol 7 3k 3meh FF=AaR D) IHAACR H

Answer Key : A Your Response : A (Correct)

Question No. 7

Which of the following delays are present in packet switching?
A) Processing Delay B) Transmission Delay

C) All of the options D) Queuing Delay

Y Rawer #, g1t @ &1 a1 B (delay) Hlge giar 872

A) S afder 3o (Processing Delay) B) crafaeeT f3er (Transmission Delay)
C) fawedl & & el D) &R 8 (Queuing Delay)
Answer Key : C Your Response : C (Correct)

Question No. 8
In India, what is the frequency of the AC power line voltage?
A) 60 Hz B) 100 Hz

C) 50 Hz D) 120 Hz

ARG &, AC ¥ WISl Aecor $ gfeaT Rreen B &2

A) 60 Hz B) 100 Hz
C) 50 Hz D) 120 Hz
Answer Key : C Your Response : C (Correct)

Question No. 9

Which is the most important international agreement for conserving all biodiversity?
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A) UNCLOS B) CITES

C) Convention on Ballast Water D) Convention on Biological Diversity

I ST fafavansit & d@weor & v BT ar $ed Agcaqut aisdT wasitar Sl @ 87

A) UNCLOS B) CITES

C) ®ed?ld 3 sSe¥c areX (Convention on D) Sifdgw Rfeyar @ 3maifGa  a@des
Ballast Water) (Convention on Biological Diversity )
Answer Key : D Your Response : D (Correct)

Question No. 10

RMS value is defined based on which of the following?
A) Current B) Charge transfer

C) Heating effect D) Voltage

RMS AT & Afaf@d & & fras 3muR ) aRenia fFar sar 82

A) oRT B) 3Mder 37c)or
C) dardry gyHa D) dlecat
Answer Key : C Your Response : C (Correct)

Question No. 11

Equipment earthing is necessary to give protection against-
A) Voltage fluctuation B) Overloading

C) The high temperature of the conductors D) The danger of electric shocks

¥ YT HeTdd A & fAT ITROT FI S[HTRT HAT RIS g

A) diedsl # 3dR-derdl B) 3ftavelifser
C) dTelehl & 3Td d D) fostell & glch & TR
Answer Key : D Your Response : D (Correct)

Question No. 12



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Relative permeability of a substance is less than the permeability of free space is known as-

A) Ferromagnetic B) Paramagnetic
C) Non magnetic D) Diamagnetic
el geret fr arder geamelierar AT T A gEaRiear @ FH g 8, O & T
ST ST g
A) dig-geehra (Ferromagnetic) B) 3T (Paramagnetic)
C) 3R gah @ (Non magnetic) D) "id-eeehra (Diamagnetic)
Answer Key : D Your Response : D (Correct)

Question No. 13

Which of the following is NOT a standard transmission voltage?
A) 750 kV B) 400 kV

C) 222 kV D) 132kV

ffaf@a & & Fle a1 Ae TWROT Qe A6 87

A) 750 kV B) 400 kV
C) 222 kV D) 132 kV
Answer Key : C Your Response : C (Correct)

Question No. 14

The thyristor is turned off when the anode current falls below-

A) Breakover current B) Holding current
C) Latching current D) Forward current
39 TAls 4RI d FA g S §, O e 36 g ST g
A) SHIAET URT B) gifesdr URT

C) 31 (Latching) &m_T D) 371 &RT

Answer Key : B Your Response : B (Correct)
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Question No. 15

In 2018, France’s highest civilian award, Legion d’'Honneur was awarded to

A) Mrinal Sen B) Azim Premiji

C) Pranab Mukherjee D) Soumitra Chatterjee

goH W fhW 2018 &, WiW & Hafed ANIRS AR, HieteT SIgX & FoAAT fFar arr ar?

A) OIS & B) 37l &S
C) wuig H@sit D) wifaT acsif
Answer Key : B Your Response : C (Wrong)

Question No. 16
Which of the following motors is employed in hair dryers?
A) Shaded pole induction motor B) Split phase induction motor

C) Capacitor start capacitor run induction D) Capacitor start induction motor
motor

T SRR A farafaf@a F & fore Alex &1 e foFar Srar g2
A) oIfed ¢d (Shaded pole) SRUT HleX B) Recee %ol 9RUT Alex
C) guia yafda duia garfard 9vor Aley D) duria yafda 9ot A

Answer Key : A Your Response : A (Correct)

Question No. 17

When a voltmeter-ammeter method is applied for the measurement of resistance, the voltmeter
reads a value of 8.28 V and the ammeter reading is 4.14 mA, then the value of the resistance
will be-

A) 2 MQ B) 2kQ

C) 200 kQ D) 20 kQ
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ST 90T & AT & AU dieedier-vder R &1 g@er fBFar srar §, ar diecHdier 1 yedis
8.28 V 3K vHiex #T IIeTi® 4.14 mA Wi giar &, ar UfeRier & AT A fifSw|

A) 2 MQ B) 2 kQ
C) 200 kQ D) 20 kQ
Answer Key : B Your Response : B (Correct)

Question No. 18

An anchor or down guy used at the ends of pole lines in order to counter balance. The pull of
the line conductors is generally known as-

A) Terminal guy B) Span guy

C) Head guy D) Arm guy

yfasrr HeJeleT (counter balance) ¥ faw die @@+t & fARYT wT UaT AT 313 M (anchor or

down guy) T 39T T ST 81 S1SeT ATehl & T (pull) T AT _ Fgl I gl
A) efAae Mg (Terminal guy) B) ¥ g (Span guy)
C) &5 Mg (Head guy) D) 3 g (Arm guy)

Answer Key : A Your Response : B (Wrong)

Question No. 19

If there is no lichens present in the air, then it indicates-

A) Airis highly polluted with SO, B) Airis very clean

C) Airis not polluted with SO D) Air quality is moderate

IfE gar 7 Fg o Algg 78 §, O I7 T T Far 872
A) &1 SO # HlI & WY HcAWH B) §al §gd AT ¢

ECAEC R
C) gdr SO, ¥ Wgi¥d =1l gl D) &aT &I I[UTdcdl HEIH E|
Answer Key : A Your Response : B (Wrong)

Question No. 20
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An alternator has 20 poles and running at 300 RPM will generate alternating voltage and
current whose frequency is-

A) 40 Hz B) 30 Hz

C) 100 Hz D) 50 Hz

20 9Yel 9Tl Ueh 3ecdeie] 300 RPM WX Teldl &1 Ydradr alecol 3R 4RT 3cUesT FXar §, 3T
Jgfea AT HI

A) 40 Hz B) 30 Hz
C) 100 Hz D) 50 Hz
Answer Key : D Your Response : D (Correct)

Question No. 21

Where is the Gulf of Mannar Marine National Park located?
A) Andhra Pradesh B) Gujarat

C) Tamil Nadu D) Karnataka

TP TP AR ANA A2 Uik Fgl odd §7

A) 3T YT B) IeRTd
C) dfferEg D) el
Answer Key : C Your Response : C (Correct)

Question No. 22

At resonance frequency, the inductive reactance value is the same as-

A) Resistance of the circuit B) Reactance of the coil
C) Reactance of the capacitor D) Impedance of the circuit
IIE dgfed W, WHT Ffed F1 A & S g B

A) 9RTY & iRy B) @isel & wfaard

C) I & gfderd D) aRwer &r gfderer

Answer Key : C Your Response : C (Correct)
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Question No. 23

If there are “n” nodes in the circuit there will be independent nodal equations.
A) n-1 B) n-2
C) n D) n+1
ofg aRayr & “n” Atz §, o g fo=r muRe Aser w#iERoT g
A) n-1 B) n-2
C) n D) n+1
Answer Key : A Your Response : A (Correct)

Question No. 24

Which of the following are the types of earthing system?
A) Plate earthing B) Wire earthing

C) Pipe earthing D) All of the options

ffaf@a & & #ia ar 3fer R[red 1 9FvR &2

A) toic AT (Plate earthing) B) arax 3ifder (Wire earthing)
C) ursy AHfeT (Pipe earthing) D) fawedl & & @i
Answer Key : D Your Response : D (Correct)

Question No. 25

A component which is used to close or break a circuit is called-
A) Wire B) Bulb

C) Switch D) Electric cell

"eH (component) T 39T IRIY FI §¢ Tl AT 8 F & A Far aar 2

A) dr B) sod
C) Rag D) faegd da

Answer Key : C Your Response : C (Correct)
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Question No. 26

Which of the following diodes is a signal diode?
A) 1N4007 B) 0A79

C) DR25 D) BY127

farfaf@a & ¥ ol a1 sz, Rvaa s §2

A) 1N4007 B) O0A79
C) DR25 D) BY127
Answer Key : B Your Response : Not Answered

Question No. 27

Which of the following is NOT a marine pollutant?

A) Dissolved oxygen B) Oil
C) All of the options D) Plastics
ST & FIT W AT TGquF TET 82
A) giad st B) ad
C) Ta%edr & & TN D) cenf¥es
Answer Key : A Your Response : A (Correct)

Question No. 28

Which planet is called Earth's twin sister?
A) Sun B) Mars

C) Venus D) Jupiter

fre a5 # gz fr FJ3aT T6T FoT A §?
A) I B) #Harer

C) UuH D) gexufd

Answer Key : C Your Response : C (Correct)
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Question No. 29

If a 100 Watts bulb is ON for 10 hours, then what will be the amount of electricity consumed?
A) 1kWh B) 300 Watts

C) 1500 Watts D) 100 Watts per hour

If& 100 are dea 1 10 G dF ST S 8, df 597 Rega afFa A fifaw

A) 1 kWh B) 300 arc
C) 1500 dare D) 100 are 9fad &¢
Answer Key : A Your Response : A (Correct)

Question No. 30

Constellation Cassiopeia has a shape of a distorted English alphabet. Which alphabet is it?
A) A B) WorM

C) R D) Q

ffivaT aRFHS (Constellation Cassiopeia) #r 3THfa 3 auiATer & TF BN & AFd ¥ F
AT §1 IE Pl AT 38R 872

A) A B) wWar M
C) R D) Q
Answer Key : B Your Response : Not Answered

Question No. 31

Two way switches are used in _____ wiring.

A) Batten B) Staircase

C) Conduit D) Lead sheathed

T (Two way) Raar & 3wler __ araf¥er # fomam e &

A) dea (Batten) B) ¢ (Staircase)

C) @sge (Conduit) D) @ dics (Lead sheathed)

Answer Key : B Your Response : B (Correct)
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Question No. 32

The speed with which the turbo alternators operate are-
A) 3000 RPM B) 5000 RPM

C) 1000 RPM D) 1500 RPM

cdf Jreeteie} o aifer & |y Fenfor giar 82

A) 3000 RPM B) 5000 RPM
C) 1000 RPM D) 1500 RPM
Answer Key : A Your Response : A (Correct)

Question No. 33

oscillator has the best frequency stability and accuracy.

A) Hartley B) Crystal controlled

C) Tickler feedback D) Colpitts

3iffAereT ¥ wafeasr ngfeT Reaar 3R Furdiar g g 2

A) & B) fohecel #gles
C) &R Hrgs® D) @ifedc
Answer Key : B Your Response : B (Correct)

Question No. 34

An ON-OFF switch with overload protection is called a .

A) Combination starter B) Manual starter
C) Magnetic starter D) Reversing starter
TS TWIETUT (overload protection) & T THh IHiT-3iT6 o= & &gl ST 8l

A) FifFseIel TereX (Combination starter) B) #Hel3teT Te&X (Manual starter)
C) Haehig T (Magnetic starter) D) Rafder Terex (Reversing starter)

Answer Key : B Your Response : A (Wrong)
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Question No. 35

Good earth continuity implies-

A) Low conductivity B) Open circuit
C) High resistance D) Low resistance
3T 3fder fAeRar 1 & 3 g7
A) AT arerehdr B) Qelrqyst
C) 3=g ufaiy D) faeT gfaRier
Answer Key : D Your Response : D (Correct)

Question No. 36

The electric displacement of a winding in two-phase supply is-
A) 90° B) 120°

C) 180° D) 60°

2-%1 HoaTs # AR # dega e gler &l

A) 90° B) 120°
C) 180° D) 60°
Answer Key : A Your Response : A (Correct)

Question No. 37

The disease which wiped out one third of the population of Europe in the 12th and 13th

centuries was-
A) Cholera B) Plague
C) Diphtheria D) Meningitis

124F 31 136 aaredY 7 o7 ¥ v A A go1E & AT A v g IMewEr e g 915 A7
A) golT B) ToldT
C) fBeiifar D) #AfETsH a¥ (Meningitis)
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Answer Key : B Your Response : B (Correct)

Question No. 38

In a megger, controlling torque is provided by-

A) Call B) Eddy current
C) Spring D) Gravity
IR (megger) #, fiTe 3mgot SaRT Yl foFar Srar gl
A) rsd B) #aX €RT
C) fesier D) I&cdTehyoT
Answer Key : A Your Response : A (Correct)

Question No. 39

Power is transmitted over transmission lines on high voltage, because-
A) Current is reduced B) Conductor cost is reduced

C) Efficiency is increased D) Both conductor cost is reduced and
efficiency is increased

faeg HeRoT g 3T dleeer ATl SAfARET amger R ST 8, it |

A) YRT H& 8 STdl & B) dTeish &l AT & & ST &
C) G&Tdr §¢ ST § D) dTeleh HT AT A & Il § 3R &7 sg
ST & gl
Answer Key : D Your Response : D (Correct)

Question No. 40

The glasses used in spectacles and watch makers' magnifying glasses are examples of-

A) Plane mirror B) Convex mirror
C) Concave mirror D) Lens
TeAt, 3R TS & matE WA F GgET AU Fd FT 3ETeIT &

A) THEIS gUoT B) 3cddl guur
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C) 3tadel guuT

Answer Key : D

The full form of ACSR is-

A) Aluminium Conductor Steel Reinforced

C) All Copper Steel Reinforced

ACSR T 0T &7 T 872

A) TegAATH Hsaet Tl NABES

C) 3 FIR Il Reahes

Answer Key : A

When is Ozone day observed?
A) 19 September

C) 16 September

GET IT ON
Google Play

D) o

Your Response : D (Correct)

Question No. 41

B) Aluminium Copper Steel Reinforced

D) All Copper Standard Reinforced

B) TogHIfia#d Sl o ReABIES
D) 3iel 9 Tvss Reahies

Your Response : A (Correct)

Question No. 42

B) 18 September

D) 22 September

NS Raq Fd AART 1T §2
A) 19 RdsR
C) 16 AdsX

Answer Key : C

Leakage coefficient is denoted by-
A) A

C) ¢

&ROT 30Tk (Leakage coefficient) r

A) A

B) 18 fdsX
D) 22 f&dsR

Your Response : C (Correct)

Question No. 43
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C) ¢ D) u

Answer Key : A Your Response : A (Correct)

Question No. 44

What is the primary function of a choke in a tube light circuit?
A) Heat up the filament B) Induce high voltage

C) Limit the current after starting D) Limit the starting current

T se IRy # G@iF F IAfPE FE R §?

A) THATHT FI ITH FLAT B) 3Td dlecol URAT el
C) 9ddel & 9 YRT &I WfAT FLAT D) ddel 8RT i AT He
Answer Key : B Your Response : D (Wrong)

Question No. 45

Which device uses infrared signal to operate or control other devices remotely?
A) Mouse B) Remote control

C) Sensor D) Touchpad

fre Bamw F ¢ @ 37 Rasw & duifea o AT &= & Qv ewed Reaa w1 3w
R Srar 872

A) &3 B) Relc &erer
C) d#&X D) cads
Answer Key : B Your Response : B (Correct)

Question No. 46

The fusing factor of protective devices for medium level load is-
A) 2.38 B) 3.45

C) 1.45 D) 0.95

AH TR F oI F AT 9YFd GaTeHs 390l (protective devices) T Herelel I0TF (FIFAIT
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Yarex) R g §2
A) 2.38 B) 3.45
C) 1.45 D) 0.95
Answer Key : C Your Response : C (Correct)
Question No. 47
A P-N-P-N diode -
A) Is always made of germanium B) May be made of any semiconductor
C) Is always made of silicon D) May be made of either silicon or
germanium
P-N-P-N 3riis |
A) gaem JHATH § ST gar § B) ey off 3r¢areles & &T &1 Hohdl &
C) gHerm fAfehl & &1 g1ar & D) fafois a1 ST @ oo & Tohar &
Answer Key : C Your Response : D (Wrong)

Question No. 48

A cluster of charges with an electric dipole moment is often called-

A) Electric dipoles B) Eddy currents

C) Polarization D) Electric susceptibility

faegd gfayda amget & @ry amawt & @HE A IRR gl SAIeT ¢

A) faegd afaga (Electric dipoles) B) #Ha¥ 4T (Eddy currents)

C) &dieoT (Polarization) D) faegd wafcefaferdr (Electric susceptibility)
Answer Key : A Your Response : A (Correct)

Question No. 49

During raceway wiring, which colour wire is always used for neutral connections?
A) White B) Red

C) Either green or white D) Green


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

WA (raceway) arIRT & NI, g FARE F AU g 5w @1 F arR F 3wEET B
ST &2

A) e B) el
C) I1 ar g AT e D) &I
Answer Key : A Your Response : D (Wrong)

Question No. 50

Which of the following changes take place when fats and oil are oxidised?

A) They become rancid and their smell and B) They become better in taste
taste change

C) They remain unaffected D) They become rancid and give good smell
frfaf@a & @ Fle w1 aRacer gar 3R da F ifedeor W g 82
A) 9 S g Sd ¢ 3R 3o Y IR EEE B) d Taig H dgX & S &
aeel S
C) d e &d ¢l D) 9 @g & o ¢ 3R 3 1Y & g
Answer Key : A Your Response : A (Correct)

Question No. 51

Who among the following constructed the Kailasanatha Temple at Kanchi?
A) Bhaskaravarman B) Narasimhavarman |

C) Mahendravarman D) Narasimhavarman I

Fier 7 AT FarEy AT Fr AATr 567 I FFasr FHIr ar?

A) AERGHA B) RTAga# |
C) #Agegdded D) Rf&ga#s Il
Answer Key : D Your Response : B (Wrong)

Question No. 52

A coil of 600 turns and of resistance of 20 Q is wound uniformly over a steel ring of mean
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circumference 30 cm and cross sectional area 9 cm?. If the relative permeability of the ring is
1600. Find the value of reluctance.

A) 4.657 x 10° AT/Wb B) 2.657 x 10° AT/Wb
C) 1.657 x 10° AT/Wb D) 3.657 x 10° AT/Wb
20 Q % 9 & T 600 & arell dR, ALY IR (mean circumference) 30 ¥t 3R 9 aqt

VA T FIE QAP dTf Kl RaT & I FAS §7 F der v g afg Rov Fr amoer
easrelierar 1600 g1 Wfase#T (reluctance) FT AT AT |

A) 4.657 x 105 AT/Wb B) 2.657 x 105 AT/Wb
C) 1.657 x 10° AT/Wb D) 3.657 x 105 AT/Wb
Answer Key : C Your Response : Not Answered

Question No. 53

Automated Teller Machines (ATMs) set up, owned and operated by non-bank entities are

called-
A) Grey Label ATMs B) White Label ATMs
C) Black Label ATMs D) Yellow Label ATMs

¥ deumit garr wifAc iR F@faa 3iees tor aie (ATM) &+t &1 Fgr Si1ar g2

A) I oFa ATM B) <gsc o e ATM
C) soie gl ATM D) Jall oidel ATM
Answer Key : B Your Response : Not Answered

Question No. 54

What is the Sl unit of electric charge?
A) Coulomb (C) B) Volt (V)

C) Ampere (A) D) Joule (J)

faeger 3mawr &1 S| AEF AT §?

A) FeFs (C) B) dlec (V)
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C) TFRR (A) D) S (J)

N

Answer Key : A Your Response : A (Correct)

Question No. 55

Silicon solar cell has an open circuit voltage NOT equivalent to-
A) 1.3V B) 1V

C) All of the options D) 045V

fafosla @ e & gar aRwer AT (open circuit voltage) BT 8, St & SET 8 gl

A) 13V B) 1V
C) fawedi & & el D) 045V
Answer Key : C Your Response : Not Answered

Question No. 56

Ceiling rose is used to take supply for a/an-

A) Portable equipment B) Fluorescent lamp
C) Electric iron D) Heater of 2000 W
Wfeler V=T (Ceiling rose) T ITAT # 3t & F AT frar e #
A) diEde 3URIOT B) ufadifed of&q
C) faegd s&N(Electric iron) D) 2000 W &T gleX

Answer Key : B Your Response : B (Correct)

Question No. 57

The phenomenon of occurrence of additional species found in the ecotone or transitional zone
between adjoining ecosystems is known as-

A) Root effect B) Coolidge effect

C) Edge effect D) Raman effect

-9 & gIRTEAfAR d 9t & T shedT a1 THAvEHET a7 HF 95 I arer ifaled
garfaar $r Icafed S a1 gl Siar 872
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A) & 91 (Root effect) B) &ferst wst@ (Coolidge effect)
C) ua 91d (Edge effect) D) {#H 9d1d (Raman effect)
Answer Key : C Your Response : C (Correct)

Question No. 58

The Universal Declaration of Human Rights was proclaimed by the UN in the year:
A) 1948 B) 1946

C) 1947 D) 1949

YT TS @RI AT HAFRE Hr Frasiler ewor g af 7 f¥q $ir o 4

A) 1948 B) 1946
C) 1947 D) 1949
Answer Key : A Your Response : Not Answered

Question No. 59

The material used for making optic-fibre cable in general is-
A) Copper B) Transparent plastic

C) Steel D) Aluminium

HifCEF-PrEa Fael Tl & AT WATAT: T AT AT 82

A) dreT B) uReRil cenfEes
C) ¥l D) vegAf=aA
Answer Key : B Your Response : B (Correct)

Question No. 60

Which of the following have the same unit, ms1 2
A) Velocity and acceleration B) Acceleration and momentum

C) Speed and velocity D) Speed and momentum
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59 ¥ fFadr sHS (ms) UF THART &2

A) T IR caxor B) caxor 3R Fae
C) arfad 3R aor D) arfa 3R daer
Answer Key : C Your Response : C (Correct)

Question No. 61

For domestic wiring, the most extensively used material is-
A) Aluminium B) Neither copper nor aluminium

C) Copper D) Copper or aluminium

e AR #, fBrE ggr 1 3T e A0 Qar 2

A) TegHIfEH B) o @ dieT 3R & & TogaAiagA
C) drer D) el a1 TogAaad
Answer Key : D Your Response : C (Wrong)

Question No. 62

The base of BJT is-

A) Heavily doped B) Lightly doped

C) Not doped D) Moderately doped

BIT# ¥ Bl

A) ardr 3afATAT (Heavily doped) B) goehl 3M9TATAT (Lightly doped)

C) zufafaa siér (Not doped) D) #egs 39fAfdd (Moderately doped)
Answer Key : B Your Response : D (Wrong)

Question No. 63

In P-type semiconductor, the majority carriers are-
A) Holes B) Free electrons

C) Valence electrons D) Neutrons
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P-e13q 3r¢farels (semiconductor) #, qET deh I &
A) gled (Holes) B) HF Felerglel
C) @SN selerelel D) =gl
Answer Key : A Your Response : A (Correct)

Question No. 64

Which of the following semiconductor devices can be used for controlling the speed of a DC

motor?
A) Thermistor B) Thyratron
C) Thyristor D) Transistor

DC #AeX fr aifa & AIfRa & & v Aff@a 7 O 5T 3rtaees 39T &1 39dier f&ar
ST HehalT &7

A) afFrex B) ursicieT
C) URIREX D) gifaeex
Answer Key : C Your Response : C (Correct)

Question No. 65

The rotor current frequency in a slip-ring induction motor depends on-

A) Inductive reactance B) Rotor conductor

C) Amount of slip D) Rotor inductor

RerT-RaT $5RT AN 3 A 4R A e W e e ¥

A) W& gfaard (Inductive reactance) B) e & dAreleh (conductor)

C) T&ea &T AT (Amount of slip) D) AT & W& (inductor)
Answer Key : C Your Response : C (Correct)

Question No. 66

Which of the following diodes operate(s) in reverse breakdown region?

A) LED B) PN junction diode
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C) Zener diode D) Both PN junction diode and zener diode

ffaf@a & & Fi9 ar s Ray sFwsEa a7 7 F avdar 8§72

A) LED B) PN &l 31AIE
C) SR 38 D) PN S&RrT 38 3R SR 3™ aar
Answer Key : C Your Response : C (Correct)

Question No. 67

Which of the following is/are contaminated by the wastes produced from factories?
A) Water B) Soil

C) All of the options D) Air

thare et W TRy aTer RSt & BT 3 & T SR A &2

A) =T B) #er
C) fawedl # & el D) gar
Answer Key : C Your Response : C (Correct)

Question No. 68
Synchronous motor when used for power factor improvement should be-
A) Operated at no load with over excitation B) Operated at no load with under excitation

C) Operated with load D) Connected along with capacitor bank

AfFT Uk #F FUR F AT w21 P s W Jeawrelr (RAsnrew) e |
A) 3fA3cdere & H1Y Yed R W FEfad @l B) ool Icdolel & AU qed HR W FAfeld

ST =TT FT ST AT
C) ¥R & AT Hdlfeld I ST AT D) #affex do & @y S[9r gl =ifgw
Answer Key : A Your Response : A (Correct)

Question No. 69

The EMF induced in a coil due to the change of its own flux linked with it is called-
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A) Dynamically induced EMF B) Statically induced EMF
C) Selfinduced EMF D) Mutually induced EMF
Fsell (coil) & 3 et T & Ty & IRace F FROT Fzer 7 WRT EMF # T
ST 81
A) aifaeiier & & 9RT EMF B) HifEgsha &7 & URT EMF
C) T@uRd EMF D) 9REIR® &7 & URT EMF
Answer Key : C Your Response : C (Correct)

Question No. 70

Paramagnetic substances are-
A) Weakly repelled by a magnet B) Weakly attracted by a magnet

C) The same as that of dia magnetic D) Produced by heating iron above the curie

substances point
HeTIHIT Tere g gl
A) Yoo ZaRT goel &7 & Gl B) Tdeh aRT el & & TN
C) widdsshra gerdf #r e D) &gl fdg & FW dlg H IH Heh Scdried
forar e &
Answer Key : B Your Response : B (Correct)

Question No. 71

Method of representing numbers such as 0's and 1's is called-

A) Secondary notation B) Binary notation

C) Variable notation D) Primary notation

'0' 3 1" SR FEEE @ g i fafer @ &gl 1T gl

A) gfadae sicer (Secondary notation) B) STSeRI ArCer

C) aRuser et D) wraffAe AlceleT (Primary notation)

Answer Key : B Your Response : B (Correct)
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Question No. 72

Susceptibilities of diamagnetic material is-

A) Zero B) Negative
C) Unity D) Positive
ST gart #r ganfear & &1
A) I B) HUTcHS
C) Uss D) &eATcHS
Answer Key : B Your Response : B (Correct)

Question No. 73

Mho relay is suitable for transmission lines.
A) Both Ultra and extra high voltage B) Ultra High voltage
C) Low voltage D) Extra-high voltage
Mho R grafRee arget & e suge g €
A) 3fegl 3Td dlecal 3R 3AcAf¥&-3Td dlecal B) 3fecl 3Td dlecal
glar
C) feet dreest D) 3caftis-3oT dreed
Answer Key : A Your Response : A (Correct)

Question No. 74

Calculate the total DC resistance of a 100 metre roll of 2.5 mm? copper wire if the resistivity of

copper at 20° C is 1.72 x 108 Q metre.
A) 0.867 Q B) 0.713 Q

C) 0.214 Q D) 0.688 Q

2,5 fAeh? A @i F aR & 100 AT & AT F Fo DC 9foker A1 HY, IfT 20°C W did A
wfeRiersRar 1.72 x 108 Q #ex ¢

A) 0.867 Q B) 0.713 Q
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C) 0.214 Q D) 0.688 Q

Answer Key : D Your Response : D (Correct)

Question No. 75

In 2019, which award was given to Irfan Ramzan Sheikh for foiling militant attack?
A) Maha Vir Chakra B) Shaurya Chakra

C) Kirti Chakra D) Ashok Chakra

2019 &, HICTHAEY AN FT AHH FA F AT T Wl G F Fg [ER & FFATAT
fohar rm?

A) FEER T B) <l =
C) ifd o D) 37l% T
Answer Key : B Your Response : A (Wrong)

Question No. 76

The synchronous speed of a three phase induction motor having 20 poles and connected to a
50 Hz source is-

A) 600 RPM B) 1200 RPM
C) 300 RPM D) 1000 RPM
50 Hz & @i & o, 20 Sier @y 9 ot SO AT B eI TR T
A) 600 RPM B) 1200 RPM
C) 300 RPM D) 1000 RPM
Answer Key : C Your Response : C (Correct)

Question No. 77
Which of the following scientists rediscovered DDT in 1939?
A) Madam Curie B) Rachel Carson

C) Alexander Fleming D) Paul Hermann Muller
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R=Tiaf@e & & R denfer o 1939 3 g7 DDT #r @t A7

A) HsH F B) A HrA
C) 3TelFoisty FolfHer D) diel gX&= HoR
Answer Key : D Your Response : D (Correct)

Question No. 78

Lalit Kala Academi was established by the Government of India to-
A) Develop music B) Increase film production

C) Promote understanding of Indian Art D) Develop dance and drama

R TPR o ¥ faT afea Far AT Hr wUgear

A) Ffd F7 e F B) fhew 3cureet 7 Ife Tt
C) HARAT el FI SATTDRRT T TR e D) 5T 3R sresh & A wiat
Answer Key : C Your Response : D (Wrong)

Question No. 79

A quantity whose magnitude has a definite repeating time cycle is called a-

A) Transient B) Steady state aperiodic

C) Steady state periodic D) Transient state periodic

ag U & aReor fr anadt @ 9% fr v RARaa A adr g, 39 &gl ST gl

A) &foie (Transient) B) X 3@®ar 3amadi  (Steady state
aperiodic)

C) &R 3rg¥ar adt (Steady state periodic) D) &Ifoleh  31a¥ar  3adi  (Transient state

periodic)

Answer Key : C Your Response : C (Correct)

Question No. 80

system is universally adopted for a generation, transmission and distribution of
electric power.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

A) Single phase B) Two phase
C) Three phase D) Both single and two phase
aslifRE ® J Yomell Y safdeed ulay (electric power) & 3culesl, WeRorT 3K
fARoT % AT 9= ST
A) e ot B) T el
C) o D) Wit fioTer 3R g vt
Answer Key : C Your Response : C (Correct)

Question No. 81

With which of the following games is the term 'Ground Stroke' associated?
A) Cricket B) Hockey

C) Badminton D) Tennis

farafaf@a & & frw dar & a3z WYF U4 3T 82

A) fohehe B) glhr
C) ssffea D) <o
Answer Key : D Your Response : D (Correct)

Question No. 82

A JFET is also called device.
A) Unipolar B) Both unipolar and bipolar
C) Neither unipolar nor bipolar D) Bipolar
JFET &t 39T Y FET S g
A) Ffadie B) IfAdler 3R ssder gt
C) o d gfAdler AR o & Srsuler D) sT8dler

Answer Key : A Your Response : A (Correct)

Question No. 83
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Where is the control grid placed in a triode?

A) Very near to anode B) Very near to cathode
C) Midway between plate and cathode D) Very near to plate
grits # fdEor @i @t g &7
A) Tlis & Fgd IE B) %u’lga?a’g'aw
C) ToiT 3R FUS & & FHT AL AET D) =T & wgd Id
Answer Key : C Your Response : Not Answered

Question No. 84

What is the purpose of shading coil in a shaded pole motor?
A) Reduce rough commutation B) Reduce rotational losses

C) Produce rotating magnetic field D) Reduce friction loss

oifee ¢F (33 die) AT # Fisd F ST (A33) T F T 327 2

A) Th HEIEAA T HH el B) gulf gifeial &l &d el
C) yulel Haehi & &1 fHATOT Hter D) =yuT gIfadl & Fd e
Answer Key : C Your Response : C (Correct)

Question No. 85

Which of the following is a possible cause of blackening at both ends of the fluorescent lamp?
A) Improper ballast B) Frequent starting of fluorescent lamp

C) Low or high voltage D) All of the options

ffaf@a & & Fla a1 FaRRie a9 & g« AT W Frer s F1 Foifad FRT §?

A) 3eIugeFd SerEe (Improper ballast) B) FARRIC ofT #I IR SR TCIC gl
C) oo a1 3= dlecal D) fawedl & & @sh
Answer Key : D Your Response : A (Wrong)

Question No. 86
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Which of the following has the smallest storage capacity?
A) Hard disk B) Zip disk

C) CD D) Floppy disk

farfaf@a & & fruehr RS &Adr @ed FA gt 82

A) &5 3= B) oo 3=
C) CD D) wardr f3
Answer Key : D Your Response : D (Correct)

Question No. 87

In a 2 pole lap winding DC machine, the resistance of one conductor is 2 Q and the total
number of conductors is 100. Find the total armature resistance.

A) 50 Q B) 200 Q

C) 10Q D) 100 Q

2 9 o9 aEfdor DC #eNeT &, vs =& (conductor) & wfadr 2 Q & 3k =t
(conductors) #I el HEAT 100 ¥ Fel AR FfAAY (armature resistance) AT H

A) 50 Q B) 200 Q
C) 10 @ D) 100 Q
Answer Key : A Your Response : A (Correct)

Question No. 88

The river Ganges flows through which of the following countries?
A) India, Myanmar and Bangladesh B) India and Bhutan

C) India, Bhutan and Bangladesh D) India and Bangladesh

I Gy AeT F A B U A @9 Tgar 87
A) #Rd, FAR 3R Eeneer B) #IRd 3R #er
C) #Rd, e 3R sivenger D) $Ra 3R Seacer

Answer Key : D Your Response : D (Correct)
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Question No. 89

According to Kirchhoff's current law, the algebraic sum of current leaving a node in a lumped
parameter circuit is equal to-

A) Zero B) Infinite

C) Unity D) Value of voltage drop in the circuit

fraie & a7 fae F IeER, Rl welea Ads 9y & o Az (Rg) @ Aweer arelr

ol aruait 7 feEfORT Aer _ F S« B 7l

A) T B) 3ad

C) Te® D) aRgy & diecsr 319 & AT
Answer Key : A Your Response : A (Correct)

Question No. 90

The measurement errors mainly caused by human mistakes are called-
A) Gross error B) Systematic error

C) Instrumental error D) Observational error

AT T W AEE AT F FROT 391 AT AT (measurement errors) I FAT FHgl STl
Y

A) THa I (Gross error) B) WuTelloTd ¢ (Systematic error)
C) ™ AT (Instrumental error) D) W&TullcAs Ife (Observational error)
Answer Key : A Your Response : D (Wrong)

Question No. 91

If a three-phase motor operates with only two-phases, it is called single-phasing. It will
ultimately make the motor

A) To run efficiently B) To carry no load

C) To burn out D) To run with triple speed

Ife 3-%ar AR, Haer a-Por | FAferd gclr §, dr 58 Fre-$isier Fer Srar §1 5@ 3ad: A
I


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

	Template for PYP PDFs - Acrobat PDF - 1st page.pdf
	Blank Page

	Template for PYP PDFs - Acrobat PDF - 1st page - Black.pdf
	Blank Page




